Math 132, Test 2, March 3, 2009 Name:

No graphing calculators or electronic communication of any kind. If you need extra paper please ask.
Credit will be awarded for correct content and clarity of presentation. Prepare for math battle. This test

has 100 points. There is a take-home bonus problem at the end with instructions. Make sure to at least
attempt each part except the bonus.

1. [20pts.] Solve the differential equation below.
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2. [15pts] Solve the differential equation below.
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3. [15pts] Solve the differential equations below.
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4.142pts] Determine if the series below converge or diverge. If possible find the
value to which they converge. Explain your answer. Make sure to justify any tests
which are used. Most of the credit will be awarded on the basis of the clarity and
completeness of your answer.
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5. [2pts.] Give the definition for convergence of s = a; + a2 + a3 + - - - in terms of
an explicit limiting process.
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6.[3pts] Let {an}%c':l be a sequence. Explain in a sentence or two what it means
for the limit of the sequence to be equal to 3. Also, give an example of a sequence
which converges to 3.
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